Free Mount Cylinder

Series CU

A space-saving air cylinder with multiple surfaces capable of mounting
directly. Offered in rich variations.

Space-saving Mounting
The multiple surface direct Axial mounting Vertical mounting Lateral mounting
P (Body tapped) (Body through-holes) | (Body through-holes)

mounting with a square body
and no brackets allows the
freedom of the mounting
surface.

This enables space-saving
designs for equipment.

c02
Series Variations RQ
. _Rod cam
5 Double acting Single rod 483 | el
)9 ',./ 3 = Double rod 490 MU
L b = S —
W . . ingle rod
\/% Single acting (Spring return/Extend) 495
e Double acting Single rod 502
= e . = 3 Double rod 506 |
. AP T . . Single rod
ai.i:"’;‘/ \::;:‘:.-/ Single acting (Spring return/Extend) 6.10.16. 20. 25. 32 510
= : - ; Double actin Single rod 516
2
e /”’f‘ Double acting Single rod 520
:::i/
‘e’ g Double acting Single rod 20, 25, 32 524 D-O0
=
o
\.e/ -XO
_ S Indvidual
e — Double acting Single rod 10, 16, 20, 25, 32 533 | [XO
v 11’2‘;}"'// Technical
data

479



Series CU

Construction

Single acting, Spring extend

@ ® @X
A
=

ey

N

|

7

With auto switch

lstﬂg.l—

@®

PN

I:S

T~ _ _ - !
h -]
Component Parts Component Parts
No. Description Material Note No. Description Material Note
1 Cylinder tube Aluminum alloy | Hard anodized 9 Spring seat Brass
2 Head cover Brass 06 to 210, Electroless nickel plated 10 | Stopper Brass 06
Aluminum alloy | 216 to 32, Chromated 11 Retaining ring Carbon tool steel Phosphate coated
3 Piston Brass 06 to 010 12 | Rod end nut Carbon steel Nickel plated
Aluminum alloy | @16 to 832, Chromated 13 | Bushing Qil-impregnated sintered alloy
4 Piston Brass 210 14 Plug with fixed orifice Alloy steel Black dyed
5 Piston rod Stainless steel 15 | Magnet —
6 Bumper A Urethane 16 | Auto switch —
7 Bumper B Urethane 17 | Piston gasket
8 Return spring Piano wire Zinc chromated 18* | Piston seal NBR
19* | Rod seal
Replacement Parts: Seal Kit
Bore size (mm) / Part no.
10 16 20 25 32
Kit no. CU10T-PS CU16T-PS CU20T-PS CU25T-PS CU32T-PS

@

498

needed.

Grease pack part number: GR-S-010 (10 g)

O

= Seal kit includes (9, 19. Order the seal kit, based on each bore size.
= Seal kit includes a grease pack (10 g).
Order with the following part number when only the grease pack is

SvVC



Free Mount Cylinder .
Single Acting, Single Rod, Spring Return/Extend Series CU

Dimensions: Single Acting, Spring Return

+

Ao
E GB
4 x NN MM GA
(a]
= ¢ | I
O

06, 10
2 x gP through Bleed port M5 x O.é
Rod end nut
&/
,—]_ Th—1 )

—

|
! |
- =wsl [
= 3 | | 1
AY
2 x gP through Auto switch
A E ; 4 x oT counterbore
B H -]
r4
016 to 032
Fodendnut | oo Bleed port g M5 x 0.8 (932: Rc 1/8)
é% ® / g Rod End Nut/Accessory cul
o - : i
o P © Dbl
© = d
E GB

4 x NN MM GA &-5 K

o
lez —l— B - c02
N Y L
= RQ
D L @ “TES w —
=i d o~ Width across a1 ] —
b ol flats L X \ Material: Carbon steel CQM
A 2 x @P through \ Part no. App?licable bore d ol B e e —
A E_ 4 x oT counterbore size (mm) M U
B H s Auto switch NTP-006 6 |M3x05|18]|55| 64 L
¥4 NTP-010 10 M4x07 (24| 7 | 81
NTJ-015A 16 M5x0.8 | 4 8 | 92
NT-015A 20 M6x1.0(5 [10 |115
NT-02 25 M8x1.25/5 [13 [15.0
NT-03 32 M10x1.25/ 6 |17 [19.6
(mm)
B‘;:ﬁ ri')ze A|lAa|B|c|D|E|GA|GB|H | J |K]|L MM NN P|a |QA| R T
6 7 — 13 22 3 7 |15 10 13 10 17 — M3 x 0.5 |[M3x0.5depth5| 3.2 — — 7 | 6 depth 4.8
10 10 — 15 24 4 7 |116.5]10 16 11 18 — M4 x 0.7 |[M3x0.5depth5| 3.2 | — — 9 6 depth 5
16 11 125 20 32 6 7 |16.5|11.5| 16 14 25 5 M5 x 0.8 |[M4x0.7 depth 6| 4.5 4 2 12 | 7.6 depth 6.5
20 12 14 26 40 8 9 [19 12.5] 19 16 30 6 M6 x 1.0 |M5x0.8depth8| 5.5 9 4.5 16 | 9.3 depth 8
25 15.5 |18 32 50 10 10 | 215|183 23 20 38 8 | M8 x1.25 [M5x0.8depth 8| 5.5 9 45 | 20 | 9.3 depth 9
32 19.5 | 22 40 62 12 11 | 23 12.5| 27 24 48 10 |M10x 1.25|M6x1.0depth9| 6.6 | 13.5| 4.5 | 24 |11depth 11.5
Without auto switch With auto switch —
Bore size s Z s Z D-D
(mm) "5t [1ost [ 155t | 5st | 10st | 155t | 5st [10st] 155t | 5st | 10st | 158t —
6 38 | 43 | 48 [ 51 | 56 | 61 | 38 | 43 | 48 | 51 | 56 | 61 X
10 41 46 56 57 62 72 41 46 56 57 62 72 —
16 35 40 50 51 56 66 45 50 60 61 66 76 Individual
20 41 46 56 60 65 75 51 56 66 70 75 85 -XO
25 45 | 50 | 60 | 68 | 73 | 83 | 55 | 60 | 70 | 78 | 83 | 93 Techmical
32 47 52 62 74 79 89 57 62 72 84 89 99 tlata

ZSVC 499



